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Sixth Semester B.E. Degree Examin$mpff, June/July 2023

Supplv Ghain ManaqelmentSupply Ghain ManagHhent
j

Time: 3 hrs. '"'"'...,"0' Max. Marks: 100
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Note: Answer any FIVE full question^s, c{ra ONE full qunbou,,ffffi""'rorh module.
oo
()

6

d

o
cO
C)

ox
o;-

Y.
69

3
oo ll
c00

':a
.g c\(6$

0)::
otrdoE€
!Lo>
8n
3E96(i(J

oth0i
-o>€
clrk=-(,6

-a" ts

5r
d. 8_tro.
6cqoj
k.-
o=
to
@ li=

E=
EO5r
>' qi

troo
()=
Lr -6)

().
c?oi
-.i c.i

0)

oz
(n
P
o
o.

3a.
b.

Explain the "strdftebic Outsourci

.trH:f;,! -;:::::

Mod,tifti:2

-F.+

proce$S'flkith a neat flow chart. (10 Marks)bxplam tne "ri$eteglc uulsourcmg
What is,.Make V/s Buy strategregy?- Ho,w Economics of Scale
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dec isio$?:Explain brie fl y.
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influences Make V/s Buy
(10 Marks)
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OR .",t'.i,
the distribution network design.

(10 Marks)
(10 Marks)

(08 Marks)

(12 Marks)
tive function, constraints of following models :

model iikGravity location model.

' Moduie-4'',,'M Sampath ispi*ffing to open.a Computer store. He has 2 choices to make,large or
small. The dgqgfid ban be either l w-or high with probabilities of 0.45 and 0.55 respectively.

If small stor6,':#built at high dhpmnd annual revenue is estimated as Rs 20 lakhs. Later he

can either'[fipand that or dJ nothing. If he expands the revenue will increase to 40 lakhs with
an investment for expansidn being 5 lakhs. If he does nothing , his revenue will remain same

as earlier. At low de will do nothing and revenue will be 10 lakhs. If he builds large

store, at high demand ffiwm earn Rs 80 lakhs annually. At low demand, either he can sell

it for Rs 30 lakhs -or r6rait for better future which will get him a revenue of Rs 50 lakhs. If the

cost of building'!ffi{-large store is Rs 30 lakhs and small store is Rs 10 lakhs, which store

must be built?,U3e"[ecision tree for your analysis over a I year period. Without considering

discounted .ffi flo*. (12 Marks)

b. Explain the 16w of demand and optimal pricing decision with a suitable example. (08 Marks)
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mffi;Jnd a suitable example. (10 Marks)

ilfsizb of the warehouse. The study reveals
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OR
Explain the concept of overbooking with relevant

A Manager at a warehouse department plans for
that the housing needs is normally distri a mean of 6,00,000 square feet and

in advance for next 3

at an avetage of
(10 Marks)

8a.
b.

9a.
b.

10 a.

b.
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chain?
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How do vpffilileve it? Explain. (10 Marks)

do you cffibl it? Explain briefly.1l0 Marks)

'-'* oR **M
Explain the concept opffifu Chain Mapping wffieJdvant diagrams. (10 Marks)

Is information technotq& a key driver for the Xffidcess of SCM? What characteristics of
Information will ffi6tt t"pply ihain decisiprr?-Sxplain briefly. (10 Marks)

Note : for Ouffi8b , choose the suiBb{--e&plue fromthe following table :

Why Integration is necessary
What is Bull Whip effect?
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Value ofK Strvice level in %
_ 0.{ 46.0

:;ffi+ 42-l ..'l-&"
as3 38.2,,*:w'

=- 0.4 3ffiw
,.*. - 0.5 ,d'"'#,ff8

- 0.6 * Q1.5

- 4.7 t*%.24.5
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